run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sun Feb 19 15:22:17 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Feb 19 15:17:06 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 15:21:44 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13050049 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 15:22:19 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Feb 19 15:17:20 2012

ADC for

FGT RDO=1,ARM=0,APV=17

Aé)opecl

[ 1000

2000

3000

ADC for

FGT RDO=1,ARM=0,APV=18

4000
raw ADC

AD%ped

1
0 1000

1
3000

2000 4000
raw ADC
[_Aocrorrer roo-1ARM=0APV-19 ]}
5 FT
3
8 8 8 8
0’
<
10
1000 2000 3000 4000
raw ADC
[[ADC for FGT RDO=1,ARM=0,APV=20 |
5
3
[
0
<
10

1000 2000

3000

ADC for

FGT RDO=1,ARM=0,APV=21

4000
raw ADC

0

1000 2000

3000
raw ADC

4000

[ ADC for FGT RDO=1,ARM=0,APV=17 }
= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=18 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 o e e -
% =
3000 - - .- - -
=
2500 pm—r v v - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = SR
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=20 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=21 .
= 4000
]
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

10

10°

10"

10

10"

10

10

10

10°




run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 15:21:45 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 15:22:20 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Sun Feb 19 15:17:34 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Sun Feb 19 15:21:46 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Feb 19 15:22:21 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 15:21:48 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13050049 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 15:18:07 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 15:22:23 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 19 15:18:20 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 15:21:50 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13050049 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 15:22:25 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 19 15:18:31 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 15:21:51 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 15:22:26 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 15:18:39 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Feb 19 15:21:52 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 15:22:27 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 15:18:41 2012
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[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

|

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

50

40

30

20

10

1
120
APV channel

O—I'I'I'I-I1'I-I-I1I-I'I'I1'I-I'|1-I' IEDQ

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

50

40

30

20

ili 1'I'I'f|1'|

COOXECOIXK]

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

50

40

30

10

|1-|-|-r

T

i
120
APV channel

RMS (ADC-ped)

18

16

14
12

1

0.8

06 [

0.4

0.2

0

APV channel




run_13050049 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 19 15:18:59 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

ADC-ged

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=3.APV=13 |

ADgped

I
3000 4000
raw ADC

1000 2000

[ ADC for FGT RDO=1.ARM=3.APV=14 ]
—

AD%ped

1 1
1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15 |

1000 2000 3000 4000

raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

ADgAPed

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o=
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=—--1-----
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 f=— - - {- - - -
=
500 fm— s - - -
=
L
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— i .
% =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
oE— I
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
=S
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13050049 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13050049 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13050049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13050049 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13050049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sun Feb 19 15:22:32 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Sun Feb 19 15:19:22 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 15:21:57 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 15:22:32 2012
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run_13050049 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 15:19:31 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 15:21:59 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 19 15:22:33 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sun Feb 19 15:19:40 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 15:22:00 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 15:22:34 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sun Feb 19 15:19:50 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 15:22:01 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 19 15:22:35 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Sun Feb 19 15:20:00 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Sun Feb 19 15:22:02 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Sun Feb 19 15:22:36 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Sun Feb 19 15:20:10 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Sun Feb 19 15:22:04 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Sun Feb 19 15:22:37 2012
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run_13050049 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 19 15:20:20 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 19 15:22:39 2012
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run_13050049 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Sun Feb 19 15:20:21 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 19 15:22:05 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC

Sun Feb 19 15:22:39 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Sun Feb 19 15:20:30 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Sun Feb 19 15:22:06 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Feb 19 15:22:40 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sun Feb 19 15:20:35 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Sun Feb 19 15:22:07 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Feb 19 15:22:40 2012
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run_13050049 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 15:22:07 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 15:22:40 2012
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run_13050049 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 15:20:45 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 15:22:42 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13050049 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sun Feb 19 15:20:47 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 15:22:09 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 15:22:42 2012
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run_13050049 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sun Feb 19 15:20:55 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 15:22:10 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 15:22:43 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

200

HH

180

Hq

I

160

RMS (ADC-ped)

140

13ICK

120
100

[NICERIICH

80
60

40

20

0

- IIIaCENIOCERInE]

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

i
120
APV channel

RMS (ADC-ped)

°f

[ ADC RMS for RDO=2,ARM=2,APV=19 |

20

40

1
100

1
120
APV channel

60 [+

50 |r

RMS (ADC-ped)

40

30

20

10 f

[CADC RMS for RDO=2,ARM=2,APV=20 _}

70

60

RMS (ADC-ped)

50

40

TITTT R EEET]T

30

20

10

°'I111|HH|'I'I'I1]

0

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

APV channel

60

RMS (ADC-ped)

50

40

30

1T |'I1'I]'I111]1111]111

20

10

APV channel




run_13050049 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 15:21:02 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 15:22:11 2012
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run_13050049 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 15:22:44 2012
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run_13050049 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Feb 19 15:22:16 2012
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run_13050049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Sun Feb 19 15:22:49 2012
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